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33 Upwpwunh Jwpgh Uwuhu hwdwjuph wdwguunt

. 23, ,,hnuhup ,, 2023pR. féhy U npnadwu
IUSYUB 3
UUURU 3UUU3LEP P3NFRGP DUlUUGNPDR® LCUS P3NFAESU3PL SUUGNh SLSEUUGhSULUL
nuuuswurquuu
2023(0.
£jnipbinwhG dwhuubph ninbuwghinwlw Swnblywh Sandwé wiwh
dwl hn fo111s]
Snnh nuuwlwngiwb hnnjwsGtiph DGkt - uuuuu ptln;uﬁ -
NN u.5+u.6 wpzwi Loles
wGJwhnLiGhpp NN ( ) i i
1 2 3 & 5 6
s cLuUGELE  SukluueP
ey (1nnn4050+1nnn5000+tnnn 6000) 6136293.607 | 4028638.700 | 2107654.907
wyn pynti’ 0.00
u. tuleushry ouluutM
4030 (nnn4100+wnnn4200+wnnn4300+wnnn4400+wnnn4500+ X
nnn4600+wnn4700) 4028638.700 | 4028638.700 0.0
wjn pynid’ 0.00
£100 1.1 UChuUSULLr JUMr2USMrNFE@3NFL %
' (nnn4110+wnn4120+wnnn4130) 899725.400 899725.400 0.0
wyn pyntd’
4110 2°UUNd JaUrdn1 UCUSULUr26N 64 FULELULGURLEN %
{tnnn4111+1nn4112+ tinn4114) 899725.4 899725.4 X
nphg’
4114 -Uzfuwwinnnbbph wzfuwnwywpdbp b hwybpwddwpbbp 4111
754,361.000 | 754,361.000 X
s |- Mupglwwnpnidbbp, npudwlwh fupwiuntunedbGbp b hwwnney 4112
Jdwnlbp 145,364.4 145,364.4 X
4114 | -Uj JwpdwwnpnipiniGikip 4115 0.0 X
QUUSUSP UNShULUGUL UTUINYAHBZUL JGUNLER (nnn4131)
4130 X
0.0 0.0 0.0
nphg’
4131 | -Unghuwywlpwl wupwhnynipwl Jownpbbn 4131 0.0
1.2 dunu3ant@3nFuLErk 64 UMPULRLEGNh 26N PbPﬂl‘U
4200 {(nnnnd210+wnnn4220+unnn4230+wnnn4240+nnn4250+wnn4260) X
947901.560 947901.560 X
wyn pyntd’
curnrLususulL oululer
4210 |(inn4211+winnn4212+wnnn4213+nnn4214+nnn4215+nnn4216+wmnn4217) X
599792.500 599792.500 X
nphg’
4911 -Gnpdwniwlwi b pwllwihG dwrwjnipyniGGEph dwiuubp 4211 . "
4212 | -EGbpgqbwhy dwnwjnipjniGGbn 4212 135250.000 135250.000 X
4213 | -bndnibw] dwnwjnipjniGhbp 4213 454874.500 454874.500 X
4214 | -Ywwh dwnwjnipjniGGbn 4214 8248.000 8248.000 X
4215 | -Uwwhnywgopuwlwl éwfuubp 4215 1000.000 1000.000 X
4216 |-Spwluwnpuiwjhl dhgnglbiph yuwpawlwinipnil 4216 0.000 0.000
4217 | -Upunnwqbpwinbuswlwi whuukp 4217 420.000 420.000 X
4990 QArSAFINFULESP 64 CrRUSU3NHB3NILLENP SULUEN
(1NN4221+nN4222+1nnnd223) - 2500.000 2500.000 X
nphg’
4221 | -UkpphG gnpéninnidlbpn 4221 500.000 500.000 X
4222 | -Upnwuwhiwbjwh qnpéninnudbbph qény dwfuubp 4222 2000.000 2000.000 X
TUIVULUSIrUSHhL U3L URUSNHB3NFLLENh 26NL LENNFU
4230 (nnn4231+nnn4232+1nnn4233+nnn4234+wnnn4235+nnn4236+wnnn4237+
2429 linnn4238) X
78665.060 78665.060 X
nphg’
4231 | Jdwpswlwl dwowjnipjniGGbp 4231 0.000 0.000 X
4232 | SwiwlwpgswjhG dwnwjnipjnillbp 4232 9543.000 9543.000 X
4933 -Uzfuwnwljwgih dwulwghunwywi qupgugdwh 4233
dwnw)nipntlGibp 1 1000.000 1000.000 X




£jnipbnwhl dwfuubkph nbnbGuwgqhnwlwb

Swpbywb dandwéd wwh

P nwuwlywnpgiwl hnnjwébtph Bt wjn pyntd
4234 | -SEnwlwundwlywl dwnw)nipjniGOkp 4234 3250.000 3250.000 X
4235 | “LGwowwpswlwi GwewjnipntGGbp 4235 0.000 X
2232 | - SEGguwnuyht Lk hwipwjhG uGGnh dwewynipyniGGtp 4236 0.000 X
2737 | -LEphuywgnigswlwi dwhuubp 4237 1000.000 1000.000 X
2735 | -COonhwinip pOnyph wy) dwnwjnipjnLlhbn 4239 63872.060 63872.060 X
. USL ULULUShSUGUL oUnU3nHa3NnrFLLErk 26NL PGV
259 Jinnn 4241) X 18241.000 18241.000 X

nphg” 0.000
2241 | Uwubwghunwlwl dwowjnipjnilbGbn 4241 18241.000 18241.000 X
___ |LLBUSPL LALrASAIY 64 MUITULAIY (bwrwynipynt 666 L
T |Gmeplp) (ann4251+nn4252) ’ 129224.000 | 129224.000 X
nphg’
.. | -Ct0ptph L YwnnygGbph pGpwghl Gnpngnud b wwhwwbnd 4251
= 115174.000 | 115174.000 X
— -UbpEOwlbph L uwppwynpnudGepp pGpwghly Gnpngned L 4252
= lywhwwGnd 14050.000 14050.000 X
L3nHaEN
2250 |(nnn4281+nnnd262+nnnd263+nnn4264+nnnd265+nnn4266+wnnn4267+ X
nnn4268) 119479.000 119479.000 X
nphg’
4261 | -Qpuwublywlwjhb Gnepbip L hwagniuwn 4261 11,179.000 11,179.000 X
4262 | -9ninuunlunbuwlwl wwpwiplbp 4262 0.000 X
~dEpwwwunpwundwl b ntunegdw Gynupbip (w2fuwwnnnbGbph
- UbEpwuwwinpwuwnnid) 4263 0.000 X
4264 | -Spwluwnpuwihb Gnipbp 4264 20,800.000 20,800.000 X
4265 | -Cnppwlw dhowduwyph wwwnwwlnipjwl b ghnwlwb Gynepbip 4265 0.000 X
4266 | -Unnnpwwwhwlwl L jwpnpwunnp Gyniphbn 4266 0.000 X
4267 | -UkGgwnuyhG L hwlpwhG uGGnh Gynpbp 4267 4,000.000 4.000.000 X
4269 | -Rwwnniy GwwunwlwihG wy Gnupbp 4269 83,500.000 83,500.000 X
4300 | 1.3 SNUNUUYGUPUGP (Innn4310+wnnn 4320+1nnn4330) X 0.000 0.000 X
wjn pyniiy’
4400 |1.4 UNFRUPNDLULEN (innn4410+innn4420) X 1,350,107.000] 1,350,107.000 X
wjn pyntd’
il UNFRURTPULER MESUGUL (FUUUSLRUSHL)
LURUUGEPTNHE3NFLLEPL (innnd411+wnnn4412) X 1,350,107.000] 1,350,107.000
nnphg’
4411 -UntpuhnhwGtp ng-phlwbuwlywld whunwlwl (hwdiwjGpwjhb) 4511
Yuwgiwlybpwnip)ntGGEphG 1,350,107.000] 1,350,107.000 X
4412 -Untpuhnhwltp hliwlGuwlhwl wyinwlwh (hwiw)GpuwjhG) 4512
LuwaqiwlbpwnipniGGEphG 0.0 X
nphg’
-Untpuhnhwibp ng wEnwlywb (ng B118hwdw)GpwjhG) ns
4421 |phliwluwywl YugiwlybpwnipjntGGephh 4521
0.0 X
-UnipupnhwGBp ng wEnwlwh (ng hwdw)bGpwihb) ShGwlbuwlywb
442 | ywgswlbpwnipintGGLRhG 4052 0.0 X
4500 1.5 APUUUSLNNILEN (1nnn4510+nnn4520+unn4530+wnnn4540) X 27920.100 27920.100 X
wjn pynd’
4520 WUTUCLANILEN UPRU28USHL GURUUGEPTINHB3NILLENPL X
(nnn4521+1nnn4522) ; 0.000 0.000
nphg’
: -COpwghl npwdwplnphGbp dhowaqgquiyhl Ao
4521
JugdwybpwnipniGGEphG 0.000 X
-Ywwhunw] npwdwinphGbp dhowqqujhb
o YuwqiwlbpwnipnGGEphG i 0.000 0.000 X
4530 LLBUSPY PUUUCLALILER TESULUL FUSHUSH USL "
uuaurMaLErhL (nnnd531+nnn4532+nnnd533) 2710.500 2710.500 0.0
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SwpbElhwi Gnwé wiwb

Snnh nwuwlywpqiwl hnndwéhspp B wyn pyncd
- COpwghly npwdw0nphlbp wEnwlwi L hwdw)GpGEph ng
4531 |wnbwnpwhl yugqdwlbEpwnipntGGEphG 4637
2710.500 2710.500
- COpwghly ppuwidwbnphlbp wEnwlwi L hwdw)GpGhph
4532 |wnbnpwihl yugdwhbpwnepntGGEphG 4638
0.000
- U pGpw wdwbGnphb
= JL(?nr?q fs?é'ﬂﬂm 42537n+mnr:1 4538) A4G=3 0.000 0.0
wyn pyncd’
asza |- nbnwlwi hOptwlwnwynpdwh dwpdhGGEpha
(innn 4535+wnn 4536) 0.000
nphg’
2535 | Gplaulh hwlwpwnwpwihG swhuubiph $hGwluwynpiwh hwdwp 0.000
4535wy hwiw)GplbphG 0.000
2537 | - 33 whwnwlwh pyniebhG 0.000
4538 |- wj 0.000
2540 LQUTASUL PUUUELANILEN MESUGUL USYUDP USL %
UUGUPBUYLEPPL (innnd541+nnnd542+nn4543) 25209.600 25209.600 X
nphg’
-Lwwhwnw npwiwGnphibp wEnwlwb L hwdw)GpGbph ng
4541 |webnnpwjhl juqdwlybpwnipntGGEphG 4655
0.000 X
-Swwhwnw npwdwGnphGbp wEnwlwh L hwiw)GpGbph
2542 |wolinpuwyhl YuqdwlbpwnipnlGGkphG 4656
0.000 X
4543 -Ujp ywwhwwy npuwdwGnphGep 4657
(1nnn 4544+wnnn 4547 +wnnn 4548) 25209.600 25209.600 X
wyn pynci’
asas |- nbnwywi hoplhwlhwrwdpdwl SwpdhGGephh
(nnn 4545+wnn 4546) 0.000
nphg’
4545 | Gpluwlh hwiwpwnwpuwiht dwhuubph $hGwbuwdnpiwh hwdwp 0.000
4546 |33 wyp hwiw)GpGEpha 0.000
4547 | - 33 whwnwlwh pjnLobhG 0.000
as48 |~ L 25209.600 | 25209.600
4500 |7-6 UNSPULULUL LTTUUSLEL B4 LELUUBNCULLEN X
(1nnn4610+nnnd630+wnnn4640) 69500.000 69500.000 X
wjn pynLd’
4610 |UNSPULULUL UTUINYNHEZUL LUUSLEN 0.0 X
wjn pynid’
4610 | - SGwyhl nGunbunipniGbEphG npwdnd Ydwpynn 4711 0.0 X
ol Unghwjwlywl wwwhnynipjwi pGenkG GuwuwnGbp
ownwjnipjnilGbp dwwnnignnGephG 4712 0.0 X
UunshULlLUL oquntEsul ruuusulL Ursu3lu3snteauue
4830 |LTMUUSLEP (P3MNFREPS) (nnnd631+nnnd632+1nnn4633+nnn4634) X
69500.000 69500.000 X
nphg
4631 | -3niqwplwdnpnipjwl Owwuwnbbp pjnipkihg 4726 8000.000 8000.000 X
-Uppwlwd, dawynipwjhl b uynpuwjhG Guwuwnbbp pjniekhg’
i : 4721 | 5000.000 | 5000.000 X
4634 | -Uj| GwwuwnGlp pjnipkihg 4729 56500.000 56500.000 X
1.7 U3L oUlvUEr
4700 |(1inn4710+wnn4720+nnn4730+nnn4740+wnnn4750+nn4760+wnnn4770) X
733484.640 733484.640 0.0
wyn pyncd’
LdPPUSHNHBINFLLEN 12 SURULUrULGUL (FUUUrLYLLYUL)
4710 |YURUUGEPTNFBINFLLELPL (nnnd711+nnn4712) X
19849.500 19849.500 X
nphg’

[45]




PynipbinwjhG dwhuubkph.inGnbuwghnwlwa Swnblwl Sundwé wiw
Snnh nwuwlwpgiwl hnnywdébbph SE P wjn pyntd
- -LdhpwuwnynipyniGlbp w)p awhnyp shinwwlnnn

4712 |ywquwltpwnipynLGGLRhG 4819 1 19849500 | 19849.500 X
UPGER, TUPSUMPP JGUPLER Ed SNF3dEN, NrNLE
LURULUPrUUL SUPrREN UUGUrTIULLERh 4NIURE GhPURYNIY

4720 | e1, UPUBULS LUUSULUE (NNN4721+nnd722+nnn4723+nnn4724) X

7600.000 7600.000 X
nphg’ X

4721 | -Uzfluwunwywndh pnln 4821 0.000 X

4722 | -UjL hwpytp 4822 100.000 100.000 X

4723 | -Mwpwnwnhp ydwplbbp | 4823 7500.000 7500.000 X

1754 -MbEnwlwl hwinywéh nmwppbp dwiwpnwlGsph Ynndhg 4824
Ghdjwlg Ghuwwndwdp Yhpwednn nnidbp 0.000 X

4760 | Y3L SURUEN (nnn4761) X 0.0 0.0 X
nnhg’

4761 | -WL Swfuubip 4861 0.0 X

4770 |\ TU3INFUSUZPL UP2NSLEN (nnnd771) X 706035.14 706035.14 0.0
nnhg’ B

4771 | -Mwhniuwnwihb dhpnglbp 4891 706,035.14 706,035.14 0.0
B. N2 dhLULUULUL U4ShJLEPP GONY SUUGP on—

= (inn5100+t1nn5200+nn5300+1nn5400) S e X Sofons
wjn pyntd’

5100 1.1. 3pULULUL Ub2NSLEN ]
(nnn5110+1nnn5120+nnn5130) X 3457654.907 X 3457654 207
wjn pyntd’

5110 CGULREI 6d ChULNFEB3NFLLEN
(5111 +mnn5112+nnn5113) o 3166795.377 3166795.377
nphg’

5111 | - GhlGpkph L 2hGnipjniGGhph dbinp pbpnud 5111 0.0

- GhGpLph L 2hGnepynLGGE nnignid 5112
5112 e e 1364956.167 X 1,364,956.167
sz |- Chlipbph L 2hGnipnilGlEph Juwhwwy yepwlnpngnd 5113
1801839.21 X 1,801,839.21

150 UBRELULEN 64 UUrBUHNraruLEr
(1nnn5121+ nnn5122+nnn5123) X 219110.530 219110.530
nnhg’

5121 | - Spwluwnpuwihl uwppwynpnuibbp 5121 0.0 X 0.0

5122 | - dwpswlwl uwppwynpnialbnp 5122 179045.530 X 179045.530

5130 UsL IpULuaunL Ub2N8LEr

(i 5131+nnn 5132+nnn 5133+ nnn5134) % 71749.000 0.000 71749.000
nphg’

5131 | -Usbgynn wywhybtGp 5131 0.0 X

5132 | - N Ojnipwlwl hhdGwywl dhpngltp 5132 3000.0 X 3,000.0

5133 | - Qtinnbghwlwl pwpnbquaopwlywh dwiuukip 5133 0.0

5134 | - Lwjuwgqéwhbunwgnunwlywl dwfuukp 5134 68749.00 68,749.00

Q. N2 huULUULUL UusShdLEPP PPUSNIURS UNESLED
6000 (nnn6100+w11nn6200+wnnn6300+wnnn6400) X -1350000.000 ¥ -1350000.000
wyn pynid’
2uPSUN4US uysrdutrr PPUSNIURS UNFSLEN T

6400 ; X
(1nnn6410+wnnn6420+wnnn6430+wnn6440) -1350000.000 X -1350000.000
wjn puncy’

6410 | 711b hPUSNIURS UNISLEN : -1350000.000 X -1350000.000
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